(1)

T = N K x ZS T
OW~138 | i5i5 | AR AR i8R | AR B XKaE | AS | UK
%12 : 30 F#ET
s xE |8 | 2R EF N N é?‘i‘?

16 : 15&F T
1)(815%;;3—237:_!} i% ;:F i% ;tF i% ;tF i% ;:F IJ_I—F %16 : 00T

PIRY - IFIRERHY

(2R ]

ARt - SHEER

4RI 9 : 00~13: 00/ 5#14 : 00~18: 00718 : 00tE~20 : 00
XRAHET (FFET : 12:30/5F% : 19:30

1B 9:00~13:00/F%14 : 00~16: 15
XRAHET (FFR112:30/4% : 16:00 4K2H : BE - fiB

(IthF (e F49Hl))

PRS- (B aER

RER 2O FRE

XZAIRIR(F103RICTY

2 =iST A X K 7N & T
OBE~13BF | PO/ FHIRE bt s N | . _
%12 : 30BAHET (LLU=) o A (LLA) A& LN
s e | TSR | PR -
14F5~158F | RERERNEA) | | PIRRER (LLAS)
1585 ~ 1865 o o | ARER N
%17 : 30BHET 2R AE (L) POtz (LLIA)
PR IRIRERRL PR AR EREN CRER XAREN CoOOYTHE xEAMBE1058TT

(F27hE T ]

&I 9:00~13: 004414 : 00~15: 00,715 : 00tE~18 : 00
XEHET (348 : 12:30/4% : 17:30

A28 1% - 8 - fif




